

Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

Purchase Order #:		Date Shipped:	Shipped Via		Reference Number#		
QNS-25-005C & QNS-25-005D		22-Sep-25 Sea			PO1416 3rd run (remain)		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 1 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 3 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 4 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2508587	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 5 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 6	
	5 7.5			Bill of Lading/Air Waybill Number			
Received	Date:		COSCO bk#6429577410				



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.		Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China		Shibei District, Qingdao, China

Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#	
-25-005C & QNS-25-005D	22-Sep-25 Sea			P01416 3rd run (remain)		
Description			Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 6 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 7 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 8 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 9 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
Nutrasumma Whey Protein Isolate 464g	Pallet # 10 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
			Total Gross Weight Total Case/Pallet		page 6	
Received in good condition by	(signature)	Total		<u>l</u> ling/Air Waybill Nı	ımber	
Data						
	Description  Nutrasumma Whey Protein Isolate 464g  Received in good condition Isolate 464g	Description  Description  Description  Nutrasumma Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma Whey Protein Isolate 464g  Received in good condition by (print)  Received in good condition by (signature)	Description  Description  Description  Description  Nutrasumma  Whey Protein Isolate 464g  Nutrasumma  Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma  Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma  Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma  Whey Protein Isolate 464g  Whey Protein Isolate 464g  Nutrasumma  Whey Protein Isolate 464g  Whey Protein Isolate 464g  Pallet # 9  60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm  Nutrasumma  Whey Protein Isolate 464g  Pallet # 10  60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm  Pallet # 10  For case = 720 720 bottles total Pallet # 10  Total Gro Total Case  Received in good condition by (print)  Total Gro Total Case  Received in good condition by (signature)  Total Case	Description	Description	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#	
QNS	-25-005C & QNS-25-005D	22-Sep-25 Sea			PO1416 3rd run (remain)		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 11 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 12 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 13 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 14 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 15 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
				****			
	Received in good condition by (print)  Received in good condition by (signature)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		see page 6	
	received in good condition by	(signature)	Total		l ling/Air Waybill Nı	ımber	
Received	Date			cosc	O bk#642957741	10	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,	_	Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	nber#	
QNS-25-005C & QNS-25-005D		22-Sep-25 Sea			P01416 3rd run (remain)		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 16 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 17 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 18 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 19 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 20 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
	Received in good condition by		Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		see page 6		
	Received in good condition by	(Signatui e)	Total		l ling/Air Waybill Nı	ımber	
Received	Date:			COSC	O bk#642957741	10	



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,		Room 207,Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China
		<u></u>	

Purchase Order #:		Date Shipped:	Shipped Via	Reference Number#			
QNS	-25-005C & QNS-25-005D	22-Sep-25	Sea		PO1416 3rd run (remain)		
Item#	Description	Quantity Shipped		Lot#	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 21 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 22 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 23 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 24 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 25 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
	Received in good condition by (print)			Total Net Weight Total Gross Weight Total Case/Pallet Total Piece		page 6	
	Received in good condition by	(signature)	Total		  ing/Air Waybill Ni	ımber	
Received	Date				O bk#642957741		



Sold To:	Qingdao Nutrasumma	Shipped to:	Qingdao Nutrasumma
	Health Technology Co., Ltd.	_	Health Technology Co., Ltd.
	Room 207, Building 1 No.88, Kaifeng Road,	_	Room 207, Building 1 No.88, Kaifeng Road,
	Shibei District, Qingdao, China	_	Shibei District, Qingdao, China

	Purchase Order #:	Date Shipped:	Shipped Via		Reference Nun	ıber#	
QNS-25-005C & QNS-25-005D		22-Sep-25 Sea			PO1416 3rd run (remain)		
Item#	Description	Quantity Shipped		Lot #	Net Weight (kg) /Pallet	Gross Weight (kg) /Pallet	
00193	Nutrasumma Whey Protein Isolate 464g	Pallet # 26 60 cases, 12 ct per case = 720 720 bottles total Pallet Size: 122*102*165cm		2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet # 2 60 cases, 12 ct per 720 bottles Pallet Size: 122*1	case = 720 total	2508587	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Partial Pallet # 28 43 cases, 12 ct per case = 516 516 bottles total		2508587	239.424kg	327.5kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Pallet Size: 122*10 Pallet # 2 60 cases, 12 ct per 720 bottles Pallet Size: 122*10	<u>9</u> case = 720 total	2506293	334.08kg	457kg	
00193	<u>Nutrasumma</u> Whey Protein Isolate 464g	Partial Pallet # 30  15 cases, 12 ct per case = 180  1 case, 7 ct per case = 7  187 bottles total  Pallet Size: 122*102*55cm		2506293	86.768kg	118.7kg	
	Received in good condition l	by (print)	Total Net			0.432kg	
			Total Gros			42.2kg	
	Decision data and decision data.	(-i)	Total Cas Total	•		ase/30plt	
	Received in good condition by	(signature)	Total			863pc	
Received	Date				ing/Air waybiii Ni O bk#642957741		